[bookmark: _GoBack]Estimate the answer to the nearest 100. 
1. 696 - 273 = 
2. 491 - 389 =
3. 592 - 179 =
4. 784 - 313 = 
5. 651 - 306 =
Estimate the answer by rounding to the nearest 10. 
1. 391 - 163 = 
2. 747 - 112 =
3. 529 - 158 =
4. 447 - 236 =
5. 842 - 532 =
Estimate the answer by rounding to the nearest 10. 
1. 732 - 524 =
2. 359 - 183 =
3. 658 - 212 =
4. 825 - 625 =
5. 673 - 363 =

Show me how you could check whether 482 - 284 = 200 using another calculation
Always, sometimes, never
When you subtract, the number gets bigger. 

Poppy has 176 football cards in her folder. She gives a handful to her friend Larry. 
She estimates she has 100 football cards left in her folder. Is she correct? Explain your answer.
